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SECTION A Q%u Marks)
Answer all the guestions in gh% secfion ip the spaces providerd.
(od

_ Q
i, a1 Copving software should be a hmae:1b@%s(}i‘tware copyright. Explain the purpose of software
-OpyTi F (2 marks)

) "1@% o wave of controliing software piracy. .
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< 2. Aco ilﬁ'“F has a network computer used for management purposes. Only 2 few people ars allowed
ess to the network,
s}) State two methods to prevent unuathorised access to the network. (7 marks}

b} Feople who are authorised fo access the network might not be allowed access i ali management

data. Describe a method to restrict their access to the data. (2 marks)
3, Explain the following four computer terms :
2) buffer
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S Bo )1& ng seats on an asroplane can be done by the internet.

a) Give tw 0 advantages of using the Internet rather than making telephone call for this task (2 marks)

) What type of file access would be needed to make a booking 7 Give a reason for vour choice.
(2 marks)
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7. A small company runs six cars in its fleet. Thev }5@‘-6 produced a spreadsheet to compare running

>
R

costs over a five menth period.

RS

HE v g . A = < . - E ;
2} 1t was decided to pj‘}&&%ui the spreadsheet formulas from D2 to £8. Using the grid below, show

winat formulas wold be printed.
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{4 marks

Tata: soa
£y

b} The data in cell C6 was changed to 3.00. Which cells would be updated automatically 7 (1 mark)
8. Systems can be described as soft or hard. Give one example of a hard system, {1 mark)

. Write each of the following acronyms in full as used in computing. (2 marks)

b} CMOS
¢) RISC
d) CISC
ds - Form 4 - 2014 4 VW Computer Sind
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4. The factory needs to buy a new printer. It has :‘.?.E'Cil;QQé to buy either a dot matrix printer or an inkjei

. Lhscuss the advantages and disafims:!ﬁ.za;—@%i' using both tvpes of printer in this application.

(e {2 marks)
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ravig can be identified by selecting from dingrams on a computer screen. Deseribs

v E'?-{_’!

ihe QUOTATION tables requires a foreign key, (1 mark

1% Mame and draw twe common types of network topology. (7 mmarks)
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14, A company employs people with physical disabilities in the office. Describe an input device an
employee who does not have use of their arms could use. {2 marks)
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_ 1 in terms of @R mumber of byte

ai 17 What is meant by the term bute 7

5 Compuier memories are measurs

[£3]

S




